o3 d

S
L

..........................................................................

) em)

o(d dz) (cm)‘

-
<
=
[
<
N

1073 E

-qllll-l ||_<|: 60_4 !-l-l--l---!"-lnl-i:l -l-l-:ll---:-l-iull --I--I--I--:-

il
3é
AT
Rati

Ll
2L
)
N

T+
B E S

-

B 3 X B

1 2 3

Fit_TToriginal

|t‘TTOr|%vnaI -106
S95 ALLITERS-106
|t‘TTNEWHSMS950h 2 ALLITERS-106

it TTNEWHSMS95dpdq_ALLITERS-106

o
O
A e e 2 L) e A

|
w

oo ¢) (rad)

11 1 ] 1 11 I 11 1 1 11 1 I
1 HE 3 M

Ratio

=
1
|
]
+

— kB - Y -+ i
. -+ - .qp.-ﬂ-'h_':i;-rdb- B N B B o o I S o I ]
e -+ i | 5 <+
| . b . A » |
4 b - d | 4 - | %]
: - ~1-}- -t-1- =A=q-1-1-
- o -

=

3 2 -1 0 1 2 3 1 0 1 2 3
TP @ (PCA to beamline) TP @ (PCA to beamline)

A

=
]
3
T
H
e
T




	Contents
	Page 1


